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= (30 x 30 x 3.14) — (20 x 20 x 3.14)
= 2826 — 1256 = 1570( cm?)
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= <9x9x314x5> + (6x6x314x§) —

<3x3x314x%>

= 127.17 + 56.52 — 14.13 = 169.56( cm?)




Ox3.14-0O0x3=4.2
O0x0.14 =42
0 = 30(cm)
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X 8 X 3.14 = 200.96( cm?)
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3.5:4.9E 7MY F2 AA59] H| 2 YErHE,
3.5:4.9 = (3.5x10) : (4.9x 10) = 35 : 49
35:49=(35+7): (49+7)=5:7

5:7:\:|:84,

D:84><5+7,

[ ]=60

mebA, ofmiL o] B R A 60 kgol v, A e] BFAE 60-12 =
48 kg J Ut
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571.48 cm?

AF)= (187.84 — 6 X 2) + 4 = 43.96(cm)
A)5)= 43.96 + 3.14 + 2 = 7(cm)
=T7XT7x314%2+43.96 X6

= 307.72 4 263.76 = 571.48(cm?)
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(7159 2¥lol)=(2H ] Wol)x2+(FH°l)
(3x3x3.14%x2)+ (3x2x3.14 x 15)

= 56.52 + 282.6 = 339.12( cm?)




